

# Resolution for Maintenance Under the Illinois Highway Code

	District	County	Resolution Numb	er Resolution Type	Section Number
	6	Sangamon	35-24	Amended	24-00000-00-GM
BE IT RESOLVED, by th	e P	resident and Board Governing Body T	of Trustees	of the Local Pu	Village of ublic Agency Type
	Chatham		nois that there is hereb	y appropriated the su	ım of
	Local Public A		( co) ( co ) ( 0 0 / 1 0 0		· • • • • • • • • • • • • • • • • • • •
	**************************************	nd one hundred forty			(\$441,147.98
of Motor Fuel Tax funds	for the purpo	se of maintaining streets	and highways under the	ne applicable provisio	ns of Illinois Highway Code from
05/01/24 to Beginning Date	04/30/ Ending D				
	or revised est	mates approved in conn			te of Maintenance Costs, aintenance with Motor Fuel Tax
BE IT FURTHER RESOI	_VED, that	Village	of	Cha	atham
	tment, a cert	fied statement showing	nce period as stated a	pove, to the Departme	al Public Agency ent of Transportation, on forms the funds authorized for
BE IT FURTHER RESOI		e Clerk is hereby directe	d to transmit four (4) c	ertified originals of this	s resolution to the district office
	Holden		Village	Clerk in and for said	
	e of Clerk		al Public Agency Type		Local Public Agency Type
of Nam	Chatha ne of Local Pub		in the State of Illino	ols, and keeper of the	records and files thereof, as
		the foregoing to be a tru	e, perfect and complet	e copy of a resolution	adopted by the
President and Boa Governing Bo			Chatham ame of Local Public Agen		neeting held on 03/26/24  Date
		ereunto set my hand and		day of M	Month, Year
(SEAL, if requi	red by the LF	A)	Clerk Signature 8	Date	May 28, 2024
AND LANGE COR	PORATE		Regional Engine Department of Tr	APPROVer Signature & Date	/ED
THE THEORY IN THE SECONDARY OF THE PARTY OF	NOIS THE PROPERTY OF THE PARTY		Dopartific of 11	arroportation	



## Local Public Agency General Maintenance

### **Estimate of Maintenance Costs**

Submittal Ty	peRevised
District	Estimate of Cost For
6	Municipality

Maintenance Period

Local Public Agency	County	Section Number	Beginning	Ending
Village of Chatham	Sangamon	24-00000-00-GM	05/01/24	04/30/25

	·	no designation of the singular deal data.		Maintenan	ce Items			
Operation	Maint Eng Category	Insp. Req.	Material Categories/ Point of Delivery or Work Performed by an Outside Contractor	Unit	Quantity	Unit Cost	Cost	Total Maintenance Operation Cost
<ol> <li>Winter</li> <li>Maintenance</li> </ol>	11A	No	(Joint Purchase)	Ton	315	\$111.29	\$35,056.35	\$35,056.35
2. Tree Trimming and Removal	IIA	No	Tree Trimming and Removal	\$	1	\$15,000.00	\$15,000.00	\$15,000.00
3. Seal Coat		Yes	Bituminous Materials HFRS-2 (0.25 Gal/SY) (Deliver and Install)	Gal	9,000	\$6.00	\$54,000.00	\$90,100.00
			Seal Coat Aggregate (Air Cooled Blast Furn. Slag) CA-13 (21 Lbs/SY) (Deliver and Install)	Ton	380	\$95.00	\$36,100.00	
<ol> <li>Sidewalks and Curbs</li> </ol>	IIA	No	Concrete	CY	100	\$140.00	\$14,000.00	\$24,500.00
The state of the state of the same of the state of the st			Slab-Jacking	\$	1	\$8,000.00	\$8,000.00	
		wy01401400000000000000000000000000000000	ADA Ramps	\$	1	\$2,500.00	\$2,500.00	
5. Bituminous Patching	IIA	No	Pre-Mix	Ton	152	\$125.00	\$19,000.00	\$20,500.00
			Equipment Rental	\$	1	\$1,500.00	\$1,500.00	
6. Roadside Maintenance	11A	No	Aggregate	Ton	1,000	\$24.95	\$24,950.00	\$24,950.00
7. Traffic Control Devices	IIA	No	Traffic Signs (Various)	\$	40	\$150.00	\$6,000.00	\$15,000.00
			Sign Posts (Various) & Accessories	\$	40	\$225.00	\$9,000.00	
<ol><li>8. Grading and Shaping Ditches</li></ol>	IIA	No	Grading and Shaping Ditches	\$	1	\$10,000.00	\$10,000.00	\$10,000.00
<ol> <li>PCC Patching</li> <li>(Deliver &amp; Install)</li> <li>(Various Locations)</li> </ol>	IIA	Yes	PCC Patching	\$	1	\$24,950.00	\$24,950.00	\$24,950.00
10. Crack Sealing	IIA	No	Crack Sealing	\$	1	\$2,500.00	\$2,500.00	\$2,500.0
11. PCC Patching (Material Only)	IIB	No	PCC	CY	200	\$175.00	\$35,000.00	\$39,500.0
			Equipment Rental & Accessories	\$	1	\$4,500.00	\$4,500.00	
12. Guardrail Repair	111	No	Guardrail Repair	\$	1	\$50,000.00	\$50,000.00	\$50,000.0
13. Drainage Repair	IIA	No	Drainage Repair	\$	1	\$10,000.00	\$10,000.00	\$10,000.0
14. HMA Mill and Overlay (Deliver & Install) (Savannah Rd & Walnut St Intersection)	IV	Yes	HMA Mill & Overlay (Binder & Surface Course including Traffic Control)	SY	350	\$100.00	\$35,000.00	\$55,000.0
			Concrete Curb and Gutter	Foot	80	\$250.00	\$20,000.00	
THE COLUMN STATE OF THE PARTY O		************************		Terrette con deut augen is station to come fine con una gazen	***************************************	То	tal Operation Cost	\$417,056.3

## **Estimate of Maintenance Costs**

Submittal Type Revised

Maintenance Period

Local Public Agency	County	Secti	on	Beginning	Ending
Village of Chatham	Sangamon	24-0	00000-00-GM	05/01/24	04/30/25
		[	Estimate of Mainte	nance Costs Summa	ary
Maintenance	***************************************	MFT Funds	RBI Funds	Other Funds	Estimated Costs
Local Public Agency Labor		*			
Local Public Agency Equipment		***************************************	***************************************		
Materials/Contracts(Non Bid Items)		\$182,456.35			\$182,456.35
Materials/Deliver & Install/Materials Quotations (8	Bid Items)	\$179,600.00			\$179,600.00
Formal Contract (Bid Items)		\$55,000.00			\$55,000.00
Maintena	ince Total	\$417,056.35			\$417,056.35
	19809000000	Es	timated Maintena	nce Eng Costs Sumr	nary
Maintenance Engineering	-	MFT Funds	RBI Funds	Other Funds	Total Est Costs
Preliminary Engineering		\$14,438.13			\$14,438.13
Engineering Inspection		\$7,153.50			\$7,153.50
Material Testing		\$2,500.00			\$2,500.00
Advertising					
Bridge Inspection Engineering	NAMES AND ADDRESS OF THE PARTY	***************************************			
Maintenance Enginee	ring Total	\$24,091.63			\$24,091.63
Total Estimated Mai	intenance	\$441,147.98			\$441,147.98
Remarks					
Material testing will be performed for ite	m #14 (HN	1A Mill & Overl	ay - Deliver &	Install).	
SUBMITTED	***************************************				
Local Public Agency Official Signature & Date					
Paterle M. M. M. M. Melertly	5-28	24			
Title,				APPROVED	
Village Manage	. /	Regiona	al Engineer Signat	ure & Date	
County Engineer/Superintendent of Highways Si	gnature & Da	1	nent of Transporta		
IDOT Department Use Only					
Received Location Received Date Additional	Location?				
WMFT Entry By Entry D	ato.				
WMF1 Entry By Entry D	ale				



# Maintenance Engineering to be Performed by a Consulting Engineer

Local Public Agency	County	Section Number
Village of Chatham	Sangamon	24-00000-00-GM

The services to be performed by the consulting engineer, pertaining to the various items of work included in the estimated cost of the maintenance operations (BLR 14222), shall consist of the following:

### PRELIMINARY ENGINEERING shall include:

Investigation of the condition of the streets or highways for determination (in consultation with the local highway authority) of the maintenance operations to be included in the maintenance program; preparation of the maintenance resolution (BLR 14220 for municipalities and counties), maintenance estimate of cost and, if applicable, proposal; attendance at meetings of the governing body as may reasonably be required; attendance at public letting; preparation of the contract, quotations, and/or acceptance (BLR 12330) form. Also, preparation of the maintenance expenditure statement which must be submitted to IDOT within 3 months of the end of the maintenance period.

### ENGINEERING INSPECTION shall include:

Furnishing the engineering field inspection, including preparation of payment estimate for contract, material proposal and/or deliver and install proposal and/or checking material invoices of those maintenance operations requiring engineering field inspection. For operations requiring material testing ensure the testing is completed by a qualified firm.

For furnishing preliminary engineering, the engineer will be paid a base fee PLUS a negotiated fee percentage. Only one base fee can be charged per maintenance period. For furnishing engineering inspection, the engineer will be paid a negotiated fee percentage. The

		SCH	EDULE OF FEES		
Total of all Maintenance	e Operations:				
= \$20,000 Bas	e Fee	> \$	20,000 Base Fee	e = \$1,250.00	
			PLUS		
Maintenance	Preliminary	Engineering	Engineering	gInspection	
Engineering Category	Maximum Fee %	Negotiated Fee %	Maximum Fee %	Negotiated Fee %	Operation(s) to be Inspected
	NA	NA	NA	NA	NA
IIA	2%	2%	1%	1%	
IIB	3%	3%	3%		
	4%	4%	4%	4%	
IV	5%	5%	6%	6%	
2 🗸 .			BY.		
SY: Local Public Agency S  Patina  Title  Village	Signature & Date  Mc Marage	Here was a second secon	Title		& Date  2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2